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Lines & Angles
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Basic terminology:
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Types of angles (ST & UPR):
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Acute Angle (<IH D101 0 9a0°
Right Angle (FH 101 =q0°
Obtuse Angle CIE WO (& \8o
Straight angle (TRT / FY =10
Reflex angle (d&d ?ﬁW)
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Angles in parallel lines (THMIR @131 § H1om):

Cprresponding angles:
A 1T

L1&L5 |3 bt

L2 5 /el P
Chig ase

L3 & /7 )\ eqnal g
Y k(g V\'(Mq,iq




Angles in parallel lines (THMIR @131 § H1om):

Alternate angles:
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Angles in parallel lines (THMIR @131 § H1om):

Angles on same side:
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Some basic points:




Some basic points:

. Sum of angles on a line is 180°. (Lmear air) ‘)’WO VS
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Some basic points:

. Sum of angles around a point is 360°.
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Some basic points:

. Exterior angle of a triangle is equal to sum of interior opposite
ngles
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(. Find x.

gqu=-180
2=20

SX 4x




2. Find x.

B +\2=180

A= 168_ 2 (5x + 12°)
3 3x
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5. Findx +y —z, =40
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§.AB || CD. Find x.
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7 AB || CD and EF || DQ. Find x.
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§ AB || DC and DE || BF. Find x.
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q. AB || CD. Find x.
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jo. AB || CD || EF and GH || KL. Find x.
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[l. In the figure given above, AB is parallel to CD. If 2DCE = x and

£ABE = y, then what is ZCEB equal to?
feer & 71§ amsfar F AB, D F WA B 3R 2DCE = x 3R

LABE =y & @ LCEB =7
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|2- Three straight lines X, Y and Z are parallel and the angles are as shown
in the figure above. What is ZAF B equal to:
dier Helt Y@me x, v 3R z@HTR 7 3R |t or amefa F R
T & HJUR §| LAFB =7
a) 20° 150 c) 25° d) 10°
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|3- In a AABC, a line XY parallel to BC intersects AB at X and AC at Y. If BY
bisects angle XYC, then m 2CBY : m 2CYB is:
Qm—A—ABCﬁ' T@T XY J@T BC % AR § T4T T@T BY HIoT
XYC Y gfasnfara #Xt §, @ m £CBY : m 2CYB FaT3|
a)5:4 b)4:5 1:1 d)6:5
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/4. Two parallel lines AB and CD are

intersected by a transversal EF at M

and N respectively. The lines MP and

NP are the bisectors of interior

b angles £BMN and 2DNM on the

same side of the transversal. Then
£MPN is equal to :

AB 3T CD, & ARG @V T&H

EF 7S TRAed garRT M 3R N

W FA A mp 3R N I@E

D FOT BMN 3R ®r DNM &
gfaefara Tl 8] @ FT MPN
HT AT T3]
a) 60° 90°
c) 45° d) 120°
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